

TOPIC →

Leibnitz Theorem
(Successive Differentiation)

By — Dr. S. N. Sharma

Date — 30-09-2021

Leibnitz Theorem —

Statement :-

If u and v are two functions of x which possess derivatives of n th order, then

$$D^n (uv) = nC_0 u^{(n)} v + nC_1 u^{(n-1)} v' + nC_2 u^{(n-2)} v'' + \dots + nC_r u^{(n-r)} v^{(r)} + \dots + nC_n u v^{(n)}$$

Where $nC_0, nC_1, nC_2, \dots, nC_r, \dots, nC_n$ are Binomial Coefficients

and $nC_0 = nC_n = 1$ $nC_r = nC_{n-r} = \frac{n!}{r!(n-r)!}$

Proof. → Since the statement is related to Natural Numbers, we can verify it by the principle of mathematical induction.

Let $y = u(x) v(x)$

$$\begin{aligned} \frac{dy}{dx} &= u_1(x) v(x) + u(x) v_1(x) \\ &= 1C_0 u v + 1C_1 u v' \end{aligned}$$

Again diff. w.r.t respect to x
we have

$$Y_2 = U_2(x) v + U_1(x) v_1(x) + U_1(x) v_1(x) + U_2'(x) v_2(x) \\ = U_2 v + 2U_1 v_1 + U v_2 \quad \text{--- (i)}$$

$$= 2C_0 U_2 v + 2C_1 U_1 v_1 + 2C_2 U v_2 \quad \text{--- (ii)}$$

This shows the statement- is True for

$n=1$ and $n=2$

Now let the statement- is True for $n=m$

$$\text{i.e. } Y_m = mC_0 U_m v + mC_1 U_{m-1} v_1 + mC_2 U_{m-2} v_2 + \dots \\ + mC_{m-2} U_2 v_{m-2} + mC_{m-1} U_1 v_{m-1} \\ + mC_m U v_m. \quad \text{--- (iii)}$$

Then we are to show statement- is
also true for $n=m+1$

$$\text{i.e. } Y_{m+1} = m+1 C_0 U_{m+1} v + m+1 C_1 U_m v_1 + m+1 C_2 U_{m-1} v_2 \\ + \dots + m+1 C_{m-1} U_2 v_{m-1} + m+1 C_m U_1 v_m \\ + m+1 C_{m+1} U v_{m+1} \quad \text{--- (iv)}$$

Differentiating (iii) w.r.t respect to x

$$Y_{m+1} = mC_0 [U_{m+1} v + U_m v_1] + mC_1 [U_m v_1 + U_{m-1} v_2] \\ + mC_2 [U_{m-1} v_2 + U_{m-2} v_3] + \dots + \\ + mC_{m-2} [U_3 v_{m-2} + U_2 v_{m-1}] + mC_{m-1} [U_2 v_{m-1} + U_1 v_m] \\ + mC_m [U_1 v_m + U v_{m+1}]$$

$$y_{m+1} = m C_0 U_{m+1} v$$

$$= m C_0 U_{m+1} v + (m C_0 U_m v_1 + m C_1 U_m v_1)$$

$$+ (m C_1 U_{m+1} v_2 + m C_2 U_{m+1} v_2) + \dots$$

$$+ \dots + m C_{m-2} U_2 v_{m-1} + m C_{m-1} U_2 v_{m-1}$$

$$+ m C_m U_1 v_m + m C_{m+1} U_1 v_m + m C_m U v_m$$

$$= m C_0 U_{m+1} v + (m C_0 + m C_1) U_m v_1 + (m C_1 + m C_2) U_{m+1} v_2$$

$$+ \dots + (m C_{m-2} + m C_{m-1}) U_2 v_{m-1} +$$

$$(m C_m + m C_{m+1}) U_1 v_m + m C_m U v_m$$

Since

$$m C_{r+1} + m C_r = m+1 C_r$$

$$m C_0 = m+1 C_0 = 1$$

$$m C_m = m+1 C_{m+1}$$

$$= m+1 C_0 U_{m+1} v + m+1 C_1 U_m v_1 + m+1 C_2 U_{m+1} v_2$$

$$+ \dots + m+1 C_m U_1 v_m + m+1 C_{m+1} U v_m$$

Thus we see Leibnitz theorem is true

[By using of principle of Mathematical

Induction]

Thus statement is true all values of n

Hence the result